
Da) X = X +aN .

Recall Nu= AnXu + 92,Xv
Nv= A ,2 Yu +AzzXv

where = Ga and K= Q,1922-912a2,

= ,G H = =Cantazz) -h
*=XutaNu=Xu+a (an Xu+ azXv) Sp=-dN .

= (l+aan)Xn+aazXv .

· Fr=Xv + aNu =Xu+ a(aizXu+azzX)
= aazYm+ (1+ aazz)Xv .

S Yuxv= (Haan)(Haazz) XuXXv-aaziaa XuxXv
= + Calan+azz)+Cazanain-arazia]Xux Xv
= (l-2Hatkez) Xu xXv

.
as required .

b) Notethat Iux*vl = (1-2Ha+kaz) NuxXu) , so

= & Hatkaz) XuxXv
= N

.

+kaz)(uxXvI
So NandNarParallel, so dN(Xu) =dNp(Xu) , dN(v) = dN(X)P p
so Nu= Nu=Sp(Xu) , Nv=N=- sp(Q)









*

·Joby Prop 1 . i Sec4-2of do Cars, the map
-IFox isa beal isometry/








